
Dice AFL Score Card

Goals (6 points) Behinds (1 point) Score

1st Quarter 6 x _______    + 1 x _______  =

2nd Quarter 6 x _______    + 1 x _______  =

3rd Quarter 6 x _______    + 1 x _______  =

4th Quarter 6 x _______    + 1 x _______  =

Final Score

Player:  

Goals (6 points) Behinds (1 point) Score

1st Quarter 6 x _______    + 1 x _______  =

2nd Quarter 6 x _______    + 1 x _______  =

3rd Quarter 6 x _______    + 1 x _______  =

4th Quarter 6 x _______    + 1 x _______  =

Final Score

Player:  
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